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178, xInx -y —y=x3(3In x— ).

oy X--3-(3-log(x) — 1)
Ecuacion := y'(X) x-10g(x) expand( x-log(x) )
. d _YX) g2
Ecuacion = - y(X) X IN(X) In(x)
_ -1
P x-log(x)
—_ 1

P xIn(x)
g = rhs(Ecuacion)

s

q: In(x)

IntPosP := int(p, X)

IntPosP := -In(In(x))

INntNegP := -int(p, X)

INtNegP := In(In(x) )

SolPart := exp(IntNegP) -int(exp(

IntPosP) -q, X)
SolPart := x>

SolucionGeneral := y(x) =C,-exp(IntNegP) + SolPart

SolucionGeneral :=y(x) =C; In(x) +X

SolGral := dsolve( Ecuacion)

3

SolGral :=y(x) = X+ In(x) _C1

restart

182, ' =

I
xseny -+ 2sen2y’

1

Ecuacion = y'(X) =

o d _
Ecuacion ;= X y(X) =

EcuacionLineal := diff (x(y),y) =
EcuacionLineal :=

p :=-sin(y); g := 2-sin( 2'y)

X-sin(y(x)) 4+ 2-sin(2-y(x))

1
X sin(y(x)) + 2 sin( 2y(x) )
X(y)-sin(y) 4+ 2-sin( 2-y)

d B . .
dy X(y) =x(y) sin(y) + 2 sin( 2y)

p = -sin(y)
q:=2 sin( 2y)

)

)

©)

(4)
®)

(6)

(7)

(8

9)

(10)

(11)



IntPosP := int(p, y)
IntPosP := cogy)

INtNegP :=-int(p, y)
IntNegP := -coqgy)

SolPart := expand(exp(IntNegP) -int(exp(IntPosP) -q,
SolPart:= -4 cosy) +

SolGral == x(y) = C,-exp(IntNegP) + SolPart
SolGral :=x(y) =C, & “®® —4 cogy) + 4
Parametro := expandisolate( SolGral, C,))
Parametro:= C,; = €°% x(y) + 4 €°¥ cogy) — 4 €°%

Y))
4

Solucion := €% x + 4 &) cogy(x)) —4 € =¢C,
Solucion:= €0 x + 4 €2 cogqy(x)) — 4 €2 =C,

DerivadaFinal := simplify(isolate( diff (Solucion, x), diff (y(x), X)) )
1

sin(y(x)) (x+4 cogy(x)))

o d
DerivadaFinal := ix y(X) =

Ecuacion

d X 1
X sin(y(x)) + 2 sin( 2y(x))

(12)
(13)

(14)

(15
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(19)



